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Verificare che il dominio delle seguenti funzioni è l’insieme indicato a lato:

f(x) = 6
√
x− 6, x ∈ [6,+∞);

f(x) = log6(
6
√
x− 6), x ∈ (6,+∞) ;

f(x) = 6

√
log6(

6
√
x− 6), x ∈ [7,+∞) ;

f(x) = 4

√
log2 x

x− 6
, x ∈ (0, 1] ∪ (6,+∞);

f(x) =
5
√

5x

(x2 − 1)(x3 + 8)
, x ∈ R \ {±1,−2};

f(x) =
2x

(2x + 2)(4x − 3 · 2x + 2)
, x ∈ R \ {0, 1};

f(x) = 4
√

sinx+ | cosx|, {x ∈ R : x ∈ [2kπ, (2k + 1)π], k ∈ Z} ;

f(x) = log10 ((x− 1)2), x ∈ R \ {1};

f(x) = log2(log1/2(x
2)), x ∈ (−1, 0) ∪ (0, 1);

f(x) = log2 | log1/2(x
2)|, x ∈ R \ {0,±1};

f(x) = log4 ((x− 1)2) + log1/4(2− x), x ∈ (−∞, 2) \ {1};

f(x) =
√

log4 ((x− 1)2) + 3

√
log1/4(2− x), x ∈ (−∞, 0];

f(x) = 3
√

log4 ((x− 1)2) +
√

log1/4(2− x), x ∈ (1, 2);

f(x) = log2(− sinx)+log2 | cosx|, x ∈ (π+2kπ, 2π+2kπ)\{3
2
π+2kπ}, k ∈ Z;

f(x) = log3

(
53x log2−x(x2 − 1)

)
, x ∈ (−∞,−

√
2) ∪ (1,

√
2);

f(x) = logx2+2x−3(x
3 + 4x2 + 3x), x ∈ (0,+∞) \ {

√
5− 1}.


